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However what can we say according to the one who maintains

that one who admits to a fine and afterwards witnesses came,
he is liable.

Overview

The x7m3 initially explained that the phrase '2*7v 5"v in the 7awn is excluding
a case where it was not completely 0°7¥ 5"v; but rather it was a case of 772
7Y X2 2"NRY 03P, he is Mwd. The Xnx asks however, there is a 7"2 who
maintains 2°°17 2°7V X2 3"NXY 012 771M; according to him what does the 71wn
teach us by saying 2>7v 8"y. Our M201n explains why we cannot say that our
mwn is teaching us that by a 01p there is a 21°11 to pay only if there are 2>7V;
however if there are no 0>7¥, then even if the Pt admits to the p1°77 he is
V5.

mdoIN anticipates a question and resolves it:
— TPY08N NT YYD DY INA KDY ©IPA NINY

It is not necessary for the mawn to state 27V 5"y, in order to exclude a case

where he admitted to the fine, and 2°7¥ did not come altogether; that in
this case he is 715 since there were no 2>7Y (only a 01p2 77m)% —

The reason it is not necessary for30ur 7Iwn to teach us this rule, is -
— "9 1KY 29 YYT (3,79 97 npY) NN NOD PNNINNT

For there is a mw» in 7219% P75 which states that concerning DI one is

1D if he admits it (and there are no witnesses). Therefore we cannot say that our
7Iwn is teaching us 70D 0IP2 ATIN.

mMooIN anticipates a refutation to this argument and rejects it:
$INDAM NN DY TOIND PRT YN 9717 2N TV NOY

For it is not feasible to say; ‘he taught it and then explained it’*; for

there in 72177 he does not elaborate more than here. Therefore the r1wn here
cannot be discussing the rule of Mo 01P2 77.

"It is evident that 07y are required by no3p *37. However by mimn *27 the admission of the p>m is
sufficient. It is also self evident that if there are no 0°7v, and the 1 denies culpability, that he is 71w».

2 1If we would assume that this is what the 73w is coming to teach us, it would resolve the entire issue.
There would be no difficulty with the 7" who maintains 21 2>7¥ W2 3"1R1 01p2 770; for the 71wn is
excluding a case where no 0°7v came at all. Everyone agrees that the 012 77 is 709.

? The nawn there states if witnesses attest that someone stole an animal and the thief admits to slaughtering
it or selling it; the thief is liable only for %95 (which is 27y 2 %¥), but not for the ' '7 (for 77%m AMaY),
since we know of the 177011 177720 only MY 2"y (there are no 0°7¥ for the 77°2m fnaw).

* Occasionally a Xin will mention a law briefly in one 71w» and then expand on it in a subsequent 73w».
Perhaps that is why the m1wn discusses the rule of M5 01p2 771 again in 712171, However mooin rejects this
idea. See ‘Thinking it over’ #'s 1&2.

1

TosfosInEnglish.com



XoX 7"7 ' 2,7 "2 .70

Summary
The 71wn cannot be inferring the rule of Mwd 01p2 771 for this is stated (in a

similar fashion) in 72177 P75.

Thinking it over

1. Seemingly here the mwn is merely implying the "7 of MWD 0P 77N,
while in 72191 it is stating so emphatically; why should that not be
considered a w1dn 77 X1n?!

2. Why cannot we say that our mwn teaches us the 17 of MWD 0IP2 ATX;
however in 7217 we are taught a greater “w17n; that even if part of the pri
was 0°7v 9"V (the 72711 [with the resultant 017 of 992]), nevertheless for that
part which was 1%y 8"y (the 777221 7°2v) he 1s Mwd (and we do not say that
since he is 211 on part of the 01 he should pay the entire 01?)! This should
qualify these two n1iwn for the w97 977 K10 rule!

3 See footnote # 3.
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